B OR #R R E E R H SHTE B1ERE
FERX |zspe«| BHERX| EMRX | KBR |mgwew| RE Bl
TUNTREEE 0 0 0 0
BLFREAEEES 2 1 2 3 4 12
& T ZAT 5 2 0 1 2 3 0 3 11
fth &R 32 4 53 0 0 0 0 0 0 1 1
BEFAEEES 0 0 0 0 0
& &t 2 0 1 2 3 0 4 12
<ETA DB DERED> 0 0 0 Al A1 Al 0 A2
R1.10.1I87_&&t 2 0 1 3 4 1 4 14
H31.4.13R7E_At 7 1 1 6 1 4 23
H30.4.13R7E_AEt 70 7 80 48 79 2 36 313
H29.41I87E At 157 16 152 95 165 3 72 641
H28.4.13R7E_AEt 803 78 [ 1,067 830 733 6 367 | 3,800
H27.41187E A&t 1,357 140 | 1964 1573| 1,356 11 686 | 6,936
H26.41387E A&t 1,644 196 | 2,653 2076 1,716 12 812 | 8,901
H25.41387F A&t 1,925 240 | 3070| 2420| 2,006 13 962 | 10,383
H24.3.30I1R7E_&&t 2,203 285| 3491 | 2789 2320 17| 1,206 | 12,009
X1 BERREXAIE. FERORK.
X2 MRBEXFIE. KERORAH,
<BES>TUNTRBEEHFH(E—IE) <HR>ELTFLAEEESHER
RERIEERFR H24.3.30 RERIEERFR HEH
WEEEERS AR 90 ERREETHBAES 0
BE—TERAE 38 a &t 0
peJe s /N 33
fEHETFE—TB AR 49
fiE] FH P T A 68 <iFE>
=S —THEAE 32 H28.10 71&/\7“&%&115’—3)\%1*3%
RETET B AE 7 NETHE
RE—TBAE 122 N
S REREEE R po—. H29.3 |TLNIREBREEHEAETT
=HA iﬂ’]‘iirb%“ 118 . ?gggkgfg%m T-!-‘;%’G*&
EMRBAYSVURZENILE 56 KENF-ADHEGS
TP RAE 53
ATOEHEEAR 19
RH2ENE 24
biba A= N ES 15
HETRTBAE 85
HETR_-TEHAE 77
H9 ERET3BHEX 220
& &t 1,346




ARFROWETAICE TS RBEEABHFR (RXFBBENRITRE)

XEE () AR ICBV TR AL LR SEE SHMTE A1ABRE
LERT EX&E FERX EHEX EMEX ABR REX

=K BER BRE |BgEU)| /Nt BRE |BgU)| /Nt BRE |BgU)| /It BRE |rgU)| /Nt BRE |BgEU)| /It BRE |BrgEUL)| /It
ottt 11 1| 12 2 0 2 1 0 1 2 0 2 3 0 3 3 1 4

EE 0 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1

_ |BE® 0 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1
iZJz ZEH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EE TN 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
i % )1 BT 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EER 11 0| 11 2 0 2 1 0 1 2 0 2 3 0 3 3 0 3

5 |WMEBEFET 1 0 1 0 0 0 0 0 0 0 0 0 1 0 1 0 0 0
% W ZE BB AW ZE T 2 0 2 1 0 1 0 0 0 1 0 1 0 0 0 0 0 0
E I AR ST AT 8 0 8 1 0 1 1 0 1 1 0 1 2 0 2 3 0 3




